13:34:42 9/15/2015	Public Improvement Assessment F		ect: 19100 As ition #:	smt: 155401	Manager:	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Paul E Zenner	LANE'S HIGHLAND PARK LOTS 16	Grade and Pave	9.00	97.00	\$873.00	16-28-23-12-0060
Lorri A Steffen	AND LOT 17 BLK 7	Lighting	35.50	97.00	\$3,443.50	
585 Portland Ave		City Processing Fee	3.56	97.00	\$345.32	
St Paul MN 55102-2220 *778 FAIRVIEW AVE S *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***			\$4,661.82	
Realty Income Properties 3 Llc	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.00	138.00	\$1,242.00	16-28-23-11-0075
11995 El Camino Real Ste 101	FORD PKWY LOTS 1 2 AND LOT 3 BLK 5	Lighting	35.50	138.00	\$4,899.00	
San Diego CA 92130-2565	blik 5	City Processing Fee	3.56	138.00	\$491.28	
* 1580 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***			\$6,632.28	
Alcorn Llc	HARDENBERGH HEIGHTS SUBJ TO FORD PKWY LOTS 26 27 AND LOT 28	Grade and Pave	9.00	138.00	\$1,242.00	16-28-23-11-0074
1581 Ford Parkway	BLK 4	Lighting City Processing Fee	35.50 3.56	138.00 138.00	\$4,899.00 \$491.28	
St Paul MN 55116-2130		City Flocessing Fee	5.50	138.00		
* 1581 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***			\$6,632.28	
Highland Towers Apts	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.00	440.00	\$3,960.00	16-28-23-11-0076
445 Broadway Ave Ste 33	PKWY LOTS 4 THRU LOT 14 BLK 5	Lighting	35.50	440.00	\$15,620.00	
St Paul Park MN 55071-1515		City Processing Fee	3.56	440.00	\$1,566.40	
*1600 FORD PKWY		*** Owner ***			\$21,146.40	
*Ward: 3		Uniter				
*Pending as of: 3/4/2015						
Johnson Properties 7800 Metro Pky Suite 300 Bloomington MN 55425-1509 *1600 FORD PKWY	HARDENBERGH HEIGHTS SUBJ TO PKWY LOTS 4 THRU LOT 14 BLK 5	*** Taxpayer ***				16-28-23-11-0076
*Ward: 3 *Pending as of: 3/4/2015						

13:34:42 9/15/2015	Public Improvement Assessmen	t Roll by Address Ratification Date:	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rat</u>	e <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Johnson Realty Company Llc 1999 Shepard Rd Saint Paul MN 55116-3210 *1603 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY AND EX W 13 FT LOT 21 AND ALL OF LOTS 22 THRU LOT 25 BLK 4	Grade and Pave Lighting City Processing Fee *** Taxpayer ***	9.0 35.5 3.5	0 187.00	\$1,683.00 \$6,638.50 \$665.72 \$8,987.22	16-28-23-11-0073
Lynn Johnson Mitchell Johnson Per Rep 1999 Shepard Rd St Paul MN 55116-3210 *1603 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY AND EX W 13 FT LOT 21 AND ALL OF LOTS 22 THRU LOT 25 BLK 4	*** Owner ***				16-28-23-11-0073
Johnson Realty Company Llc 1999 Shepard Rd Saint Paul MN 55116-3210 *1615 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY THE W 13 FT OF LOT 21 AND ALL OF LOTS 19 AND LOT 20 BLK 4	Grade and Pave Lighting City Processing Fee *** Taxpayer ***	9.0 35.5 3.5	0 93.00	\$837.00 \$3,301.50 \$331.08 \$4,469.58	16-28-23-11-0072
Lynn Johnson Mitchell Johnson Pr 1999 Shepard Rd St Paul MN 55116-3210 *1615 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY THE W 13 FT OF LOT 21 AND ALL OF LOTS 19 AND LOT 20 BLK 4	*** Owner ***				16-28-23-11-0072
Parish Of The Messiah 1631 Ford Pky St Paul MN 55116-2130 *1631 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY LOTS 15 THRU LOT 18 BLK 4	Grade and Pave Lighting City Processing Fee *** Owner and Taxpa	9.0 35.5 3.5 ayer ***	0 160.00	\$1,440.00 \$5,680.00 \$569.60 \$7,689.60	16-28-23-11-0071

13:34:42 9/15/2015	Public Improvement Assessmen	•	Project: 19100 Ass Resolution #:	smt: 155401	Manager:	Pa
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Patrick J Nesheim	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.00	0.00	\$0.00	16-28-23-11-0086
Patricia A Nesheim	PKWY LOT 1 AND E 24 5/10 FT OF	Lighting	35.50	0.00	\$0.00	
614 Hillcrest Ave	LOT 2 BLK 6	City Processing Fee	3.56	0.00	\$0.00	
5t Paul MN 55116-2147				=	\$0.00	
[•] 1640 FORD PKWY		*** Owner and Taxpa	yer ***			
Ward: 3						
Pending as of: 3/4/2015						
	Previous Assessment					
	Davern/Edgcumbe RSVP					
	Levied 9/20/1995					
Dennis L Rutz	HARDENBERGH HEIGHTS EX S 13 FT	Grade and Pave	9.00	58.00	\$522.00	16-28-23-11-0059
Cheryl L Rutz	FOR PKWY THE E 1/2 OF LOT 29 AND	Lighting	35.50	58.00	\$2,059.00	10-20-25-11-0057
641 Ford Pky	ALL OF LOT 30 BLK 3	City Processing Fee	3.56	58.00	\$206.48	
St Paul MN 55116-2138				=	\$2,787.48	
*1641 FORD PKWY		*** Owner and Taxpa	ver ***		\$2,787.48	
Ward: 3		o which which i whipu	.jer			
Pending as of: 3/4/2015						
1 chung as 01. 3/4/2013						
Pasco Llc	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.00	68.00	\$612.00	16-28-23-11-0087
729 Juliet Ave	PKWY AND EX E 24 5/10 FT LOT 2	Lighting	35.50	68.00	\$2,414.00	
at Paul MN 55105-2122	AND ALL OF LOT 3 AND E 12 FT OF LOT 4 BLK 6	City Processing Fee	3.56	68.00	\$242.08	
1646 FORD PKWY				=	\$3,268.08	
Ward: 3		*** Owner and Taxpa	yer ***		,	
Pending as of: 3/4/2015						
Annarita Tinanar -	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.00	50.00	\$450.00	16 30 32 11 0020
Margarito Tizcareno	PKWY THE FOL EX W 10 FT LOT 28	Lighting	35.50	50.00	\$430.00	16-28-23-11-0058
ennifer Tizcareno	AND W 1/2 OF LOT 29 BLK 3	City Processing Fee	3.56	50.00	\$178.00	
647 Ford Pkwy t Paul MN 55116-2138			5.50	=		
		*** Owner and Taxpa	Nor ***		\$2,403.00	
1647 FORD PKWY		owner and Taxpa	yei ····			
Ward: 3						
Pending as of: $3/4/2015$						

13:34:42 9/15/2015	Public Improvement Assessmen	•	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 4
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Ra</u>	te <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Robert J Werneke Barbara Werneke 4074 Baffin Bay N	HARDENBERGH HEIGHTS SUBJ TO PKWY AND EX E 12 FT LOT 4 AND E 39 5/10 FT OF LOT 5 BLK 6	Grade and Pave Lighting City Processing Fee	9. 35.: 3.:	68.00	\$612.00 \$2,414.00 \$242.08	16-28-23-11-0088
Eagan MN 55123-3927 *1652 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpa	yer ***		\$3,268.08	
St Paul Public Housing Agency Comptroller 555 Wabasha St N Ste 400 St Paul MN 55102-1602 *1653 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY THE FOL W 10 FT OF LOT 28 AND ALL OF LOT 27 BLK 3	Grade and Pave Lighting City Processing Fee *** Owner and Taxpa	9. 35. 3.	50 50.00	\$450.00 \$1,775.00 \$178.00 \$2,403.00	16-28-23-11-0057
David R Dufresne 1657 Ford Pky St Paul MN 55116-2138 * 1657 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS EX S 13 FT FOR PKWY LOT 26 BLK 3	Grade and Pave Lighting City Processing Fee *** Owner and Taxpa	9. 35. 3.	50 40.00	\$360.00 \$1,420.00 \$142.40 \$1,922.40	16-28-23-11-0056
Daniel Krocheski 1670 Randolph Ave St Paul MN 55105-2151 *1660 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY AND EX E 39 5/10 FT LOT 5 AND ALL OF LOT 6 AND E 27 FT OF LOT 7 BLK 6	Grade and Pave Lighting City Processing Fee *** Owner and Taxpa	9.0 35.: 3.: yer ***	68.00	\$612.00 \$2,414.00 \$242.08 \$3,268.08	16-28-23-11-0089

13:34:42 9/15/2015	Public Improvement Assessmen	•	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 5
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Ra</u>	te Quantity	Charge Amts	<u>Property ID</u>
Timothy J Puffer	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.		\$540.00	16-28-23-11-0055
Suzette Boehm Puffer	PKWY THE E 1/2 OF LOT 24 AND ALL OF LOT 25 BLK 3	Lighting	35.		\$2,130.00	
1661 Ford Pky	OF EOT 25 BER 5	City Processing Fee	3.	56 60.00	\$213.60	
St Paul MN 55116-2138					\$2,883.60	
*1661 FORD PKWY		*** Owner and Taxpay	er ***			
*Ward: 3						
*Pending as of: 3/4/2015						
Michael V Dotson	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.	00 60.00	\$540.00	16-28-23-11-0054
1669 Ford Pky	PKWY THE W 1/2 OF LOT 24 AND	Lighting	35.	50 60.00	\$2,130.00	10 20 20 11 000 1
Saint Paul MN 55116-2138	ALL OF LOT 23 BLK 3	City Processing Fee	3.	56 60.00	\$213.60	
*1669 FORD PKWY				-	\$2,883.60	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay	er ***			
Lynn C Larsen	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.		\$612.00	16-28-23-11-0090
5539 171st Ave Se	PKWY AND EX E 27 FT LOT 7 AND ALL OF LOT 8 AND E 14 5/10 FT OF	Lighting	35		\$2,414.00	
Christine ND 58015-9420	LOT 9 BLK 6	City Processing Fee	3.	68.00	\$242.08	
*1670 FORD PKWY					\$3,268.08	
*Ward: 3		*** Owner and Taxpay	er ***			
*Pending as of: 3/4/2015						
Eliyahu Zmira	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.		\$540.00	16-28-23-11-0053
Jessica Zmira	PKWY THE E 1/2 OF LOT 21 AND ALL OF LOT 22 BLK 3	Lighting	35.		\$2,130.00	
12220 Juniper St Nw	OI LOT 22 DEX 3	City Processing Fee	3.	56 60.00	\$213.60	
Coon Rapids MN 55448-2667					\$2,883.60	
*1675 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay	er ***			

13:34:42 9/15/2015	Public Improvement Assessmen	-	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 6
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rat</u>	<u>e</u> <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Carl J Seidel	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.0		\$612.00	16-28-23-11-0091
Eleanor B Seidel	PKWY AND EX E 14 5/10 FT LOT 9 AND ALL OF LOT 10 AND E 2 FT OF	Lighting	35.5		\$2,414.00	
2110 Highland Pky	LOT 11 BLK 6	City Processing Fee	3.5	6 68.00	\$242.08	
St Paul MN 55116-1311					\$3,268.08	
*1676 FORD PKWY		*** Owner and Taxpa	yer ***			
*Ward: 3						
*Pending as of: 3/4/2015						
George P Varghese Trustee	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.0	0 60.00	\$540.00	16-28-23-11-0052
Kunjunjamma Varghese Trustee	PKWY THE W 1/2 OF LOT 21 AND	Lighting	35.5	0 60.00	\$2,130.00	10 20 25 11 0052
1681 Ford Pky	ALL OF LOT 20 BLK 3	City Processing Fee	3.5	6 60.00	\$213.60	
Saint Paul MN 55116-2138				=	\$2,883.60	
* 1681 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpa	yer ***			
Ronald L Swenson Dorothy J Swenson	HARDENBERGH HEIGHTS SUBJ TO PKWY AND EX W 20 FT LOT 18 AND	Grade and Pave Lighting	9.0 35.5		\$540.00 \$2,130.00	16-28-23-11-0051
1685 Ford Pky	ALL OF LOT 19 BLK 3	City Processing Fee	3.5		\$213.60	
St Paul MN 55116-2138		, C		=	\$2,883.60	
*1685 FORD PKWY		*** Owner and Taxpay	ver ***		\$2,885.00	
*Ward: 3		······································				
*Pending as of: 3/4/2015						
Donna S Genck	HARDENBERGH HEIGHTS SUBJ TO	Grade and Pave	9.0		\$612.00	16-28-23-11-0092
Donna S Genck Tr	PKWY AND EX E 2 FT LOT 11 AND E 29 5/10 FT OF LOT 12 BLK 6	Lighting	35.5		\$2,414.00	
1686 Ford Pkwy	29 5/10 F1 0F L01 12 BLK 0	City Processing Fee	3.5	6 68.00	\$242.08	
St Paul MN 55116-2198				-	\$3,268.08	
*1686 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpa	yer ***			

13:34:42 9/15/2015	Public Improvement Assessmen	· · · · · · · · · · · · · · · · · · ·	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 7
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Ra</u>	te <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Chapdelaine Revocable Property Trust 1694 Ford Pky Saint Paul MN 55116-2198 * 1690 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY AND EX E 29 5/10 FT LOT 12 AND ALL OF LOT 13 AND E 17 FT OF LOT 14 BLK 6	Grade and Pave Lighting City Processing Fee *** Owner and Taxpay	9.0 35.5 3.5 yer ***	68.00	\$612.00 \$2,414.00 \$242.08 \$3,268.08	16-28-23-11-0093
Gregory Frank Vedder Brenda Renee Vedder 1693 Ford Pky Saint Paul MN 55116-2138 *1693 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY THE W 20 FT OF LOT 18 AND ALL OF LOT 17 BLK 3	Grade and Pave Lighting City Processing Fee *** Owner and Taxpay	9.0 35.5 3.5 yer ***	60.00	\$540.00 \$2,130.00 \$213.60 \$2,883.60	16-28-23-11-0050
John Zugschwert Stephanie Zugschwert 1940 W School St Chicago IL 60657-2035 *1696 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS SUBJ TO PKWY AND EX E 17 FT LOT 14 AND ALL OF LOT 15 BLK 6	Grade and Pave Lighting City Processing Fee *** Owner and Taxpay	9.(35.: 3.: yer ***	0.00	\$0.00 \$0.00 \$0.00 \$0.00	16-28-23-11-0094
	Previous Assessment Davern/Edgcumbe RSVP Levied 9/20/1995					
Douglas M Hanson 1697 Ford Pky St Paul MN 55116-2138 * 1697 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	HARDENBERGH HEIGHTS EX S 13 FT FOR PKWY LOT 16 BLK 3	Grade and Pave Lighting City Processing Fee *** Owner and Taxpay	9.0 35.5 3.5 yer ***	50 40.00	\$360.00 \$1,420.00 \$142.40 \$1,922.40	16-28-23-11-0049

13:34:42 9/15/2015	Public Improvement Assessmen	•	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 8
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Ra</u>	te <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Mary F Loughney Trustee	LANE'S HIGHLAND PARK E 26 FT OF	Grade and Pave	9.0		\$0.00	16-28-23-12-0077
Mary F Loughney Trustee	LOT 2 AND ALL OF LOT 1 BLK 9	Lighting	35.5		\$0.00	
1704 Ford Pkwy		City Processing Fee	3.5	6 0.00	\$0.00	
St Paul MN 55116-2108		***	ale ale ale		\$0.00	
*1704 FORD PKWY		*** Owner and Taxpaye	er ***			
*Ward: 3						
*Pending as of: 3/4/2015						
	Previous Assessment					
	Davern/Edgcumbe RSVP					
	Levied 9/20/1995					
Walter Pistner	LANE'S HIGHLAND PARK E 41.43 FT	Grade and Pave	9.0	0 41.00	\$369.00	16-28-23-12-0154
1705 Ford Pky	OF LOT 28 BLK 8	Lighting	35.5	60 41.00	\$1,455.50	
St Paul MN 55116-2109		City Processing Fee	3.5	6 41.00	\$145.96	
*1705 FORD PKWY					\$1,970.46	
*Ward: 3		*** Owner and Taxpaye	er ***			
*Pending as of: 3/4/2015						
Patricia Boyd	LANE'S HIGHLAND PARK EX E 41.43	Grade and Pave	9.0	0 58.00	\$522.00	16-28-23-12-0153
1707 Ford Pky	FT; LOT 28 & ALL OF LOT 27 BLK 8	Lighting	35.5		\$2,059.00	10-20-23-12-0133
Saint Paul MN 55116-2109		City Processing Fee	3.5		\$206.48	
*1707 FORD PKWY				:	\$2,787.48	
*Ward: 3		*** Owner and Taxpaye	er ***		+_,/ • / · · · •	
*Pending as of: 3/4/2015						
Edsil Investments Llp	LANE'S HIGHLAND PARK EX E 26 FT	Grade and Pave	9.0		\$666.00	16-28-23-12-0078
1991 Ford Parkway	LOT 2 E 6 FT OF LOT 4 AND ALL OF LOT 3 BLK 9	Lighting	35.5		\$2,627.00	
St Paul MN 55116-2108		City Processing Fee	3.5	6 74.00	\$263.44	
*1712 FORD PKWY					\$3,556.44	
*Ward: 3		*** Owner and Taxpaye	er ***			
*Pending as of: 3/4/2015						

13:34:42 9/15/2015	Public Improvement Assessmen	-	Project: 19100 solution #:	Assmt: 155401	Manager:	Page 9
Owner or Taxpayer	Property Description	Item Description	<u>Unit Ra</u>	te Quantity	Charge Amts	<u>Property ID</u>
Charles Beckjord	LANE'S HIGHLAND PARK EX THAT	Grade and Pave	9.0		\$405.00	16-28-23-12-0156
Nora Beckjord	PART OF LOT 26 BLK 8 LYING WLY O FOL DESCRIBED LINE; COM AT NW	Lighting	35.:		\$1,597.50	
1715 Ford Pky	COR OF SD LOT 26; TH ELY ALONG	City Processing Fee	3.:	56 45.00	\$160.20	
St Paul MN 55116-2109	THE N L OF SD LOT 26 A DISTANCE				\$2,162.70	
*1715 FORD PKWY	OF 2.22 FT TO PT OF BEG; TH SLY TO A	^A *** Owner and Taxpayer	- ***			
*Ward: 3						
*Pending as of: 3/4/2015						
Michael J Dercks	LANE'S HIGHLAND PARK LOT 25 &	Grade and Pave	9.0	00 49.00	\$441.00	1(20 22 12 0155
1717 Ford Pky	THAT PART OF LOT 26 BLK 8 LYING	Lighting	35.		\$1,739.50	16-28-23-12-0155
Saint Paul MN 55116-2109	WLY OF FOL DESCRIBED LINE; COM	City Processing Fee		56 49.00	\$174.44	
	AT NW COR OF SD LOT 26; TH ELY ALONG THE N L OF SD LOT 26 A		5	19.00		
*1717 FORD PKWY	DISTANCE OF 2.22 FT TO PT OF BEG;	*** Owner and Taxpayer	- ***		\$2,354.94	
*Ward: 3 *Pending as of: 3/4/2015		Owner and Taxpayer				
De la Viela de	LANE'S HIGHLAND PARK EX E 6 FT	Grade and Pave	9.	00 74.00	\$666.00	
Royee Vlodaver	LOT 4 AND E 33 FT OF LOT 5 BLK 9	Lighting	35.		\$2,627.00	16-28-23-12-0079
6 Edgcombe Pl		City Processing Fee		56 74.00	\$2,027.00	
St Paul MN 55116-2308			5	1.00		
*1722 FORD PKWY		*** Owner and Taxpayer	- ***		\$3,556.44	
*Ward: 3		Owner and Taxpayer				
*Pending as of: 3/4/2015						
Lynn M Marceau	LANE'S HIGHLAND PARK E 1 9/10 FT	Grade and Pave	9.	00 49.00	\$441.00	16-28-23-12-0074
Larry M Monck	OF LOT 23 AND ALL OF LOT 24 BLK 8	Lighting	35.:	50 49.00	\$1,739.50	
1731 Ford Pkwy	o	City Processing Fee	3.:	56 49.00	\$174.44	
Saint Paul MN 55116-2140					\$2,354.94	
*1731 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer	* ***			

13:34:42 9/15/2015	Public Improvement Assessment F	-	Project: 19100	Assmt: 155401	Manager:	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	<u>Property ID</u>
Anthony J Haider	LANE'S HIGHLAND PARK EX E 33 FT	Grade and Pave	9.00	74.00	\$666.00	16-28-23-12-0080
Anthony F Haider Jr	LOT 5 E 13 FT OF LOT 7 AND ALL OF	Lighting	35.50	74.00	\$2,627.00	10 10 10 11 0000
2530 Arbor Ct	LOT 6 BLK 9	City Processing Fee	3.56	74.00	\$263.44	
Mendota Heights MN 55120-2604				=	\$3,556.44	
*1732 FORD PKWY		*** Owner and Taxpaye	er ***		-	
*Ward: 3						
*Pending as of: 3/4/2015						
Robert A Bauer	LANE'S HIGHLAND PARK EX E 1 9/10	Grade and Pave	9.00	45.00	\$405.00	16-28-23-12-0073
Colleen A Bauer	FT LOT 23 BLK 8	Lighting	35.50		\$1,597.50	10-20-23-12-0075
1733 Ford Pky		City Processing Fee	3.56		\$160.20	
St Paul MN 55116-2140		, U		=	\$2,162.70	
*1733 FORD PKWY		*** Owner and Taxpaye	er ***		\$2,102.70	
*Ward: 3		1 5				
*Pending as of: 3/4/2015						
C						
Nigusu L Workneh	LANE'S HIGHLAND PARK EX E 13 FT	Grade and Pave	9.00	74.00	\$666.00	16-28-23-12-0081
Like Dhaye	LOT 7 AND E 40 FT OF LOT 8 BLK 9	Lighting	35.50	74.00	\$2,627.00	10 20 20 12 0001
1738 Ford Pky		City Processing Fee	3.56	74.00	\$263.44	
Saint Paul MN 55116-2141				=	\$3,556.44	
*1736 FORD PKWY		*** Owner and Taxpaye	er ***		· · · · · ·	
*Ward: 3						
*Pending as of: 3/4/2015						
Robert J Curtiss	LANE'S HIGHLAND PARK LOTS 21	Grade and Pave	9.00	94.00	\$846.00	16-28-23-12-0072
Judith A Curtiss Trustee	AND LOT 22 BLK 8	Lighting	35.50		\$3,337.00	10-20-23-12-00/2
1401 Wisconsin Ave N		City Processing Fee	3.56		\$334.64	
Golden Valley MN 55427-3958				=	\$4,517.64	
*1739 FORD PKWY		*** Owner and Taxpaye	er ***		ψτ,217.0Τ	
*Ward: 3						
*Pending as of: $3/4/2015$						

*Pending as of: 3/4/2015

13:34:42 9/15/2015	Public Improvement Assessmen	•	Project: 19100	Assmt: 155401	Manager:	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Vera A Krischik	LANE'S HIGHLAND PARK EX E 40 FT	Grade and Pave	9.00		\$666.00	16-28-23-12-0082
1740 Ford Pky	LOT 8 AND EX W 27 FT LOT 10 AND ALL OF LOT 9 BLK 9	Lighting	35.50	74.00	\$2,627.00	
St Paul MN 55116-2141	ALL OF LOT 9 BLK 9	City Processing Fee	3.56	74.00	\$263.44	
*1740 FORD PKWY				-	\$3,556.44	
*Ward: 3		*** Owner and Taxpay	er ***			
*Pending as of: 3/4/2015						
Peter J Bell	LANE'S HIGHLAND PARK W 27 FT OF	Grade and Pave	9.00	74.00	\$666.00	16-28-23-12-0083
Sumana Chakrabarti	LOT 10 AND ALL OF LOT 11 BLK 9	Lighting	35.50		\$2,627.00	10-20-23-12-0005
1746 Ford Pky		City Processing Fee	3.56		\$263.44	
St Paul MN 55116-2141		, ,		=	\$3,556.44	
* 1746 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay	er ***		<i>93,930.</i> тт	
Mordechai Dorfman Chira Dorfman	LANE'S HIGHLAND PARK LOTS 19 AND LOT 20 BLK 8	Grade and Pave Lighting	9.00 35.50		\$846.00 \$3,337.00	16-28-23-12-0071
1747 Ford Pky		City Processing Fee	3.56		\$334.64	
St Paul MN 55116-2140		,		=	\$4,517.64	
*1747 FORD PKWY		*** Owner and Taxpay	er ***		\$4,517.04	
*Ward: 3		o which and ranpuj	••			
*Pending as of: 3/4/2015						
Frederick W Jr Schmidt	LANE'S HIGHLAND PARK E 1/2 OF	Grade and Pave	9.00		\$639.00	16-28-23-12-0070
Margaret S Schmidt	LOT 17 AND ALL OF LOT 18 BLK 8	Lighting	35.50		\$2,520.50	
4081 Deerwood Trl		City Processing Fee	3.56	71.00	\$252.76	
Eagan MN 55122-1886				-	\$3,412.26	
* 1749 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay	er ***			

13:34:42 9/15/2015	Public Improvement Assessment F	Roll by Address Proje Ratification Date: Resolu		Assmt: 155401	Manager:	Page 12
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Sirad Osman	LANE'S HIGHLAND PARK LOT 12	Grade and Pave	9.00		\$423.00	16-28-23-12-0084
1602 Summit Hill	BLK 9	Lighting	35.50		\$1,668.50	
Eagan MN 55122-2294		City Processing Fee	3.56	47.00	\$167.32	
*1754 FORD PKWY					\$2,258.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 3/4/2015						
Cassville Properties Llc	LANE'S HIGHLAND PARK W 1/2 OF	Grade and Pave	9.00	71.00	\$639.00	16-28-23-12-0069
711 Sumner St	LOT 17 AND ALL OF LOT 16 BLK 8	Lighting	35.50		\$2,520.50	
St Paul MN 55116-1332		City Processing Fee	3.56	71.00	\$252.76	
*1755 FORD PKWY				-	\$3,412.26	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 3/4/2015						
Chabad Academy Inc	LANE'S HIGHLAND PARK WHEELER	Grade and Pave	9.00		\$1,728.00	16-28-23-12-0085
1758 Ford Pky	WALK VAC BET AND FOL LOT 13 BLK 9 AND EX W 7 FT LOT 3 AND ALL OF	Lighting	35.50		\$6,816.00	
Saint Paul MN 55116-2141	LOTS 1 AND LOT 2 BLK 10	City Processing Fee	3.56	192.00	\$683.52	
*1758 FORD PKWY					\$9,227.52	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 3/4/2015						
Gerald Fine	LANE'S HIGHLAND PARK LOT 28	Grade and Pave	9.00		\$423.00	16-28-23-12-0068
Janet Fine	BLK 7	Lighting	35.50		\$1,668.50	
1763 Ford Pky		City Processing Fee	3.56	47.00	\$167.32	
St Paul MN 55116-2140					\$2,258.82	
*1763 FORD PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 3/4/2015						
Potomac Management Group Inc	LANE'S HIGHLAND PARK LOT 27	Grade and Pave	9.00		\$423.00	16-28-23-12-0067
9422 Thrush Ln	BLK 7	Lighting	35.50		\$1,668.50	
Potomac MD 20854-3991		City Processing Fee	3.56	47.00	\$167.32	
*1767 FORD PKWY					\$2,258.82	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 3/4/2015						

13:34:42 9/15/2015	Public Improvement Assessment H	•	Project: 19100 esolution #:	Assmt: 155401	Manager:	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Ra</u>	te <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Thomas Mohs	LANE'S HIGHLAND PARK LOTS 25	Grade and Pave	9.0		\$846.00	16-28-23-12-0066
Lynda R Mohs	AND LOT 26 BLK 7	Lighting	35.:		\$3,337.00	
1775 Ford Pky		City Processing Fee	3.:	56 94.00	\$334.64	
St Paul MN 55116-2140				-	\$4,517.64	
*1771 FORD PKWY		*** Owner and Taxpaye	er ***			
*Ward: 3						
*Pending as of: 3/4/2015						
Upper Midwest Merkos Jewish Education	LANE'S HIGHLAND PARK W 7 FT OF	Grade and Pave	9.0	00 80.00	\$720.00	16-28-23-12-0086
Assoc	LOT 3 AND EX W 21 FT LOT 5 AND	Lighting	35.:	50 80.00	\$2,840.00	10 20 20 12 0000
1748 Hampshire Ct	ALL OF LOT 4 BLK 10	City Processing Fee	3.:	56 80.00	\$284.80	
Saint Paul MN 55116-2458				•	\$3,844.80	
* 1778 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	5L ***			
John T Quaife	LANE'S HIGHLAND PARK EX W 27 FT	Grade and Pave	9.0		\$603.00	16-28-23-12-0065
1781 Ford Pky	LOT 23 AND ALL OF LOT 24 BLK 7	Lighting	35.:		\$2,378.50	
t Paul MN 55116-2140		City Processing Fee	3.:	56 67.00	\$238.52	
*1781 FORD PKWY					\$3,220.02	
*Ward: 3		*** Owner and Taxpaye	er ***			
*Pending as of: 3/4/2015						
Kimberly M Kangas	COMMON INTEREST COMMUNITY	Grade and Pave	9.0		\$301.50	16-28-23-12-0157
1784 Ford Pky	NUMBER 482 WHEIL ESTATE CONDOMINIUM UNIT NO.1784	Lighting	35.:		\$1,189.25	
Saint Paul MN 55116-2141	CONDOMINIUM UNIT NO.1/84	City Processing Fee	3.:	56 33.50	\$119.26	
*1784 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	er ***		\$1,610.01	

13:34:42 9/15/2015	Public Improvement Assessment F	-	Project: 19 Resolution #:		ssmt: 155401	Manager:	Page 1
<u>Owner or Taxpayer</u>	Property Description	Item Description	U	nit Rate	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Greg R Rolfs	COMMON INTEREST COMMUNITY	Grade and Pave		9.00	33.50	\$301.50	16-28-23-12-0158
1786 Ford Pky	NUMBER 482 WHEIL ESTATE CONDOMINIUM UNIT NO.1786	Lighting		35.50	33.50	\$1,189.25	
Saint Paul MN 55116-2141	CONDOMINIUM UNIT NO.1780	City Processing Fee		3.56	33.50	\$119.26	
*1786 FORD PKWY					_	\$1,610.01	
*Ward: 3		*** Owner and Taxpay	/er ***				
*Pending as of: 3/4/2015							
Celia Carson	LANE'S HIGHLAND PARK W 27 FT OF	Grade and Pave		9.00	67.00	\$603.00	16-28-23-12-0064
789 Ford Pky LOT 23 AND EX W 7 FT LOT 22 BLK	Lighting		35.50	67.00	\$2,378.50	10-20-25-12-0004	
St Paul MN 55116-2140		City Processing Fee		3.56	67.00	\$238.52	
*1789 FORD PKWY					=	\$3,220.02	
*Ward: 3		*** Owner and Taxpay	/er ***				
*Pending as of: 3/4/2015							
Geraldine M Pohl	COMMON INTEREST COMMUNITY	Grade and Pave		9.00	33.50	\$301.50	16-28-23-12-0159
1790 Ford Pky	NUMBER 529 JOSIE'S CONDO UNIT	Lighting		35.50	33.50	\$1,189.25	10-20-25-12-0157
St Paul MN 55116-2141	NO.1790	City Processing Fee		3.56	33.50	\$119.26	
*1790 FORD PKWY					=	\$1,610.01	
*Ward: 3		*** Owner and Taxpay	/er ***			\$1,010.01	
*Pending as of: 3/4/2015							
Cynthia Kay Hall duran	COMMON INTEREST COMMUNITY	Grade and Pave		9.00	33.50	\$301.50	16-28-23-12-0160
Ricardo Duran Guardado	NUMBER 529 JOSIE'S CONDO UNIT	Lighting		35.50	33.50	\$1,189.25	10 20 20 12 0100
1794 Ford Pkwy	NO.1794	City Processing Fee		3.56	33.50	\$119.26	
Saint Paul MN 55116-2141					=	\$1,610.01	
* 1794 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay	/er ***			÷-,	

13:34:42 9/15/2015	Public Improvement Assessmen	•	Project: 19100 Ass esolution #:	smt: 155401	Manager:	Page 15
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
James P Hughes	LANE'S HIGHLAND PARK W 7 FT OF	Grade and Pave	9.00	54.00	\$486.00	16-28-23-12-0063
Ann D Hughes	LOT 22 AND ALL OF LOT 21 BLK 7	Lighting	35.50	54.00	\$1,917.00	
2916 132nd Ave Nw		City Processing Fee	3.56	54.00	\$192.24	
Coon Rapids MN 55448-1122					\$2,595.24	
*1795 FORD PKWY		*** Owner and Taxpaye	r ***			
*Ward: 3						
*Pending as of: 3/4/2015						
Conor R Thornton	LANE'S HIGHLAND PARK W 28 FT OF	Grade and Pave	9.00	67.00	\$603.00	16-28-23-12-0088
1798 Ford Pky	LOT 8 AND EX W 8 FT LOT 9 BLK 10	Lighting	35.50	67.00	\$2,378.50	
Saint Paul MN 55116-2141		City Processing Fee	3.56	67.00	\$238.52	
*1798 FORD PKWY				_	\$3,220.02	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	er ***			
Paul E Zenner	LANE'S HIGHLAND PARK LOT 20	Grade and Pave	9.00	47.00	\$423.00	16-28-23-12-0062
Lorri A Steffen	BLK 7	Lighting	35.50	47.00	\$1,668.50	
585 Portland Ave		City Processing Fee	3.56	47.00	\$167.32	
St Paul MN 55102-2220				_	\$2,258.82	
*1801 FORD PKWY		*** Owner and Taxpaye	r ***			
*Ward: 3						
*Pending as of: 3/4/2015						
Daniel A Langenfeld	LANE'S HIGHLAND PARK EX W 35 FT	Grade and Pave	9.00	67.00	\$603.00	16-28-23-12-0089
1804 Ford Pkwy	LOT 11 AND W 8 FT OF LOT 9 AND	Lighting	35.50	67.00	\$2,378.50	
St Paul MN 55116-5141	ALL OF LOT 10 BLK 10	City Processing Fee	3.56	67.00	\$238.52	
*1804 FORD PKWY				=	\$3,220.02	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	r ***			

13:34:42 9/15/2015	Public Improvement Assessmen	t Roll by Address Projec Ratification Date: Resoluti		smt: 155401	Manager:	Page 10
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Paul E Zenner	LANE'S HIGHLAND PARK LOTS 18	Grade and Pave	9.00	94.00	\$846.00	16-28-23-12-0061
Lorri A Steffen	AND LOT 19 BLK 7	Lighting	35.50	94.00	\$3,337.00	
585 Portland Ave		City Processing Fee	3.56	94.00	\$334.64	
St Paul MN 55102-2220					\$4,517.64	
*1807 FORD PKWY		*** Owner and Taxpayer ***				
*Ward: 3						
*Pending as of: 3/4/2015						
Benson Dorle Prop Llc	LANE'S HIGHLAND PARK W 35 FT OF	Grade and Pave	9.00	67.00	\$603.00	16-28-23-12-0090
1202 Millstone Ct	LOT 11 AND EX W 15 FT LOT 12 BLK 10	Lighting	35.50	67.00	\$2,378.50	
Saint Cloud MN 56303-7895	10	City Processing Fee	3.56	67.00	\$238.52	
*1812 FORD PKWY					\$3,220.02	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 3/4/2015						
Kremlin Libanos	LANE'S HIGHLAND PARK W 15 FT OF	Grade and Pave	9.00	65.00	\$585.00	16-28-23-12-0091
1818 Ford Pky	LOT 12 AND ALL OF LOT 13 BLK 10	Lighting	35.50	65.00	\$2,307.50	
Saint Paul MN 55116-2141		City Processing Fee	3.56	65.00	\$231.40	
*1816 FORD PKWY					\$3,123.90	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***				
Jerrod Macrunnels	LANE'S HIGHLAND PARK E 21 FT OF	Grade and Pave	9.00	68.00	\$612.00	16-28-23-21-0078
4664 Ensign Ave N	LOT 2 AND ALL OF LOT 1 BLK 11	Lighting	35.50	68.00	\$2,414.00	
Minneapolis MN 55428-4731		City Processing Fee	3.56	68.00	\$242.08	
*1822 FORD PKWY				_	\$3,268.08	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***				
D B Ford Llc	LANE'S HIGHLAND PARK LOTS 40	Grade and Pave	9.00	93.00	\$837.00	16-28-23-21-0077
1000 W 22nd St	AND LOT 41 BLK 6	Lighting	35.50	93.00	\$3,301.50	• • • •
Minneapolis MN 55405-2701		City Processing Fee	3.56	93.00	\$331.08	
*1825 FORD PKWY				-	\$4,469.58	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***				

13:34:42 9/15/2015	Public Improvement Assessmen	t Roll by Address Proje Ratification Date: Resolut		Assmt: 155401	Manager:	Page 17
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Benjamin A Lorenz	LANE'S HIGHLAND PARK EX E 21 FT	Grade and Pave	9.00		\$603.00	16-28-23-21-0079
1624 Pond Ln	LOT 2 AND E 42 FT OF LOT 3 BLK 11	Lighting	35.50		\$2,378.50	
Waconia MN 55387-3101		City Processing Fee	3.56	67.00	\$238.52	
*1830 FORD PKWY					\$3,220.02	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 3/4/2015						
D B Ford Llc	LANE'S HIGHLAND PARK LOT 37	Grade and Pave	9.00	46.00	\$414.00	16-28-23-21-0075
1000 W 22nd St	BLK 6	Lighting	35.50	46.00	\$1,633.00	
Minneapolis MN 55405-2701		City Processing Fee	3.56	46.00	\$163.76	
*1835 FORD PKWY				=	\$2,210.76	
*Ward: 3		*** Owner and Taxpayer ***				
*Pending as of: 3/4/2015						
D B Ford Llc	LANE'S HIGHLAND PARK LOTS 38	Grade and Pave	9.00		\$828.00	16-28-23-21-0076
1000 W 22nd St	AND LOT 39 BLK 6	Lighting	35.50		\$3,266.00	
Minneapolis MN 55405-2701		City Processing Fee	3.56	92.00	\$327.52	
*1835 FORD PKWY					\$4,421.52	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***				
Benjamin A Lorenz	LANE'S HIGHLAND PARK EX E 42 FT	Grade and Pave	9.00	67.00	\$603.00	16-28-23-21-0080
Mollyanne M Lorenz	LOT 3 ALL OF LOT 4 AND E 17 FT OF	Lighting	35.50	67.00	\$2,378.50	10 10 10 11 0000
1624 Pond Ln	LOT 5 BLK 11	City Processing Fee	3.56	67.00	\$238.52	
Waconia MN 55387-3101				-	\$3,220.02	
* 1836 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***				
Benjamin A Lorenz	LANE'S HIGHLAND PARK SUBJ TO ESMT, EX E 17 FT LOT 5 AND E 38 FT	Grade and Pave	9.00		\$603.00	16-28-23-21-0081
1624 Pond Ln	OF LOT 6 BLK 11	Lighting City Processing Fee	35.50 3.56		\$2,378.50 \$238.52	
Waconia MN 55387-3101		City I focessing Fee	5.50	=		
* 1842 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***			\$3,220.02	

13:34:42 9/15/2015	Public Improvement Assessmen		oject: 19100 A lution #:	ssmt: 155401	Manager:	Page 1
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
David L Nederhoff 1845 Ford Parkway St Paul MN 55116-1917	LANE'S HIGHLAND PARK EX W 36 FT LOT 35 AND ALL OF LOT 36 BLK 6	Grade and Pave Lighting City Processing Fee	9.00 35.50 3.56	56.00 56.00 56.00	\$504.00 \$1,988.00 \$199.36	16-28-23-21-0074
* 1845 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer **	**	=	\$2,691.36	
Jack Silverman Silverman 1991 Ford Pky	LANE'S HIGHLAND PARK SUBJ TO ESMT, EX E 38 FT LOT 6 ALL OF LOT 7 AND E 13 FT OF LOT 8 BLK 11	Grade and Pave Lighting City Processing Fee	9.00 35.50 3.56	67.00 67.00 67.00	\$603.00 \$2,378.50 \$238.52	16-28-23-21-0082
St Paul MN 55116-1923 * 1848 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner ***			\$3,220.02	
Thomas I Edelstein Randy B Edelstein 1991 Ford Pky St Paul MN 55116-1923 *1848 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK SUBJ TO ESMT, EX E 38 FT LOT 6 ALL OF LOT 7 AND E 13 FT OF LOT 8 BLK 11	*** Taxpayer ***				16-28-23-21-0082
William R Olson Kathleen M Husak 1851 Ford Pky St Paul MN 55116-1917 * 1851 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK EX W 26 FT LOT 34 AND W 36 FT OF LOT 35 BLK 6	Grade and Pave Lighting City Processing Fee *** Owner and Taxpayer **	9.00 35.50 3.56 **	56.00 56.00 56.00	\$504.00 \$1,988.00 \$199.36 \$2,691.36	16-28-23-21-0073
Henry A Edelstein 1856 Ford Pky Saint Paul MN 55116-1916 * 1854 FORD PKWY	LANE'S HIGHLAND PARK EX E 13 FT LOT 8 AND E 34 FT OF LOT 9 BLK 11	Grade and Pave Lighting City Processing Fee *** Owner and Taxpayer **	9.00 35.50 3.56 **	67.00 67.00 67.00	\$603.00 \$2,378.50 \$238.52 \$3,220.02	16-28-23-21-0083
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer *:	* *			

-	•	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 19
Property Description	Item Description	<u>Unit R</u>	nte Quantity	Charge Amts	<u>Property ID</u>
LANE'S HIGHLAND PARK EX W 16 FT	Grade and Pave			\$504.00	16-28-23-21-0072
				,	
0	City Processing Fee	3.	56 56.00	\$199.36	
				\$2,691.36	
	*** Owner and Taxpay	er ***			
LANE'S HIGHLAND PARK EX E 34 FT	Grade and Pave	9.	00 67.00	\$603.00	16-28-23-21-0084
LOT 9 ALL OF LOT 10 AND E 9 FT OF	Lighting	35.	50 67.00	\$2,378.50	
LOT II BLK II	City Processing Fee	3.	56 67.00	\$238.52	
				\$3,220.02	
	*** Owner and Taxpay	er ***		++,	
LANE'S HIGHLAND PARK EX W 6 FT LOT 32 AND W 16 FT OF LOT 33 BLK 6	Grade and Pave Lighting City Processing Fee *** Owner and Taxpay	35. 3.	50 56.00	\$504.00 \$1,988.00 \$199.36 \$2,691.36	16-28-23-21-0071
LANE'S HIGHLAND PARK EX W 40 FT LOT 30 W 6 FT OF LOT 32 AND ALL OF LOT 31 BLK 6	Grade and Pave Lighting City Processing Fee *** Owner and Taxpay	35. 3.	50 58.00	\$522.00 \$2,059.00 \$206.48 \$2,787.48	16-28-23-21-0070
	Property Description LANE'S HIGHLAND PARK EX W 16 FT LOT 33 AND W 26 FT OF LOT 34 BLK 6 LANE'S HIGHLAND PARK EX E 34 FT LOT 9 ALL OF LOT 10 AND E 9 FT OF LOT 11 BLK 11 LANE'S HIGHLAND PARK EX W 6 FT LOT 32 AND W 16 FT OF LOT 33 BLK 6 LANE'S HIGHLAND PARK EX W 6 FT LOT 30 W 16 FT OF LOT 33 BLK C LANE'S HIGHLAND PARK EX W 40 FT LOT 30 W 6 FT OF LOT 32 AND ALL	Property DescriptionItem DescriptionLANE'S HIGHLAND PARK EX W 16 FT LOT 33 AND W 26 FT OF LOT 34 BLK 6Grade and Pave Lighting City Processing Fee*** Owner and TaxpayLANE'S HIGHLAND PARK EX E 34 FT LOT 9 ALL OF LOT 10 AND E 9 FT OF LOT 11 BLK 11Grade and Pave Lighting City Processing FeeLANE'S HIGHLAND PARK EX W 6 FT LOT 32 AND W 16 FT OF LOT 33 BLK 6Grade and Pave Lighting City Processing FeeLANE'S HIGHLAND PARK EX W 6 FT LOT 32 AND W 16 FT OF LOT 33 BLK 6Grade and Pave Lighting City Processing FeeLANE'S HIGHLAND PARK EX W 6 FT LOT 30 W 6 FT OF LOT 33 BLK 6Grade and Pave Lighting City Processing FeeLANE'S HIGHLAND PARK EX W 40 FT LOT 30 W 6 FT OF LOT 32 AND ALL OF LOT 31 BLK 6Grade and Pave Lighting City Processing Fee	Ratification Date: Resolution #: Property Description Item Description Unit Resolution LANE'S HIGHLAND PARK EX W 16 FT 6 Grade and Pave 9. LOT 33 AND W 26 FT OF LOT 34 BLK Grade and Pave 9. Lighting 35. 6 3. **** Owner and Taxpayer *** LANE'S HIGHLAND PARK EX E 34 FT LOT 9 ALL OF LOT 10 AND E 9 FT OF LOT 9 ALL OF LOT 10 AND E 9 FT OF LOT 11 BLK 11 Grade and Pave 9. LANE'S HIGHLAND PARK EX W 6 FT LOT 32 AND W 16 FT OF LOT 33 BLK Grade and Pave 9. LANE'S HIGHLAND PARK EX W 6 FT LOT 32 AND W 16 FT OF LOT 33 BLK Grade and Pave 9. LANE'S HIGHLAND PARK EX W 40 FT LOT 30 W 6 FT OF LOT 33 ALK Grade and Pave 9. LANE'S HIGHLAND PARK EX W 40 FT LOT 30 W 6 FT OF LOT 32 AND ALL Grade and Pave 9. LANE'S HIGHLAND PARK EX W 40 FT LOT 30 W 6 FT OF LOT 32 AND ALL Grade and Pave 9. LANE'S HIGHLAND PARK EX W 40 FT LOT 30 W 6 FT OF LOT 32 AND ALL Grade and Pave 9. LANE'S HIGHLAND PARK EX W 40 FT Grade and Pave 9. LOT 30 W 6 FT OF LOT 32 AND ALL Grade and Pave 9. LOT 30 W 6 FT OF LOT 32 AND ALL Grade and Pave 9.	Ratification Date:Resolution #:Property DescriptionItem DescriptionUnit RateOuantityLANES HIGHLAND PARK EX W 16 FT 6Grade and Pave Lighting9.00 35.5056.00 56.00 City Processing Fee3.5656.00**** Owner and Taxpayer ********** Owner and Taxpayer ***9.00 LOT 9 ALL OF LOT 10 AND E 9 FT OF LOT 9 ALL OF LOT 10 AND E 9 FT OF LOT 11 BLK 11Grade and Pave Lighting City Processing Fee9.00 3.5667.00 City Processing FeeLANES HIGHLAND PARK EX E 34 FT LOT 9 ALL OF LOT 10 AND E 9 FT OF LOT 11 BLK 11Grade and Pave Lighting City Processing Fee9.00 3.5667.00 City Processing FeeLANES HIGHLAND PARK EX W 6 FT LOT 32 AND W 16 FT OF LOT 33 BLK 6Grade and Pave Lighting City Processing Fee9.00 3.5656.00 56.00 city Processing FeeLANES HIGHLAND PARK EX W 40 FT LOT 30 W 6 FT OF LOT 33 AND ALL OF LOT 31 BLK 6Grade and Pave Lighting City Processing Fee9.00 3.5658.00 	Ratification Date:Resolution #:Charge AntisProperty DescriptionItem DescriptionUnit RateQuantityCharge AntisLANES HIGHLAND PARK EX W 16 FT 6Grade and Pave Lighting9.0056.00\$504.0010T 33 AND W 26 FT OF LOT 34 BLK 6City Processing Fee3.5.656.00\$199.366*** Owner and Taxpayer *********\$2,691.36LANES HIGHLAND PARK EX E 34 FT LOT 9 ALL OF LOT 10 AND E 9 FT OF LOT 11 BLK 11Grade and Pave Lighting9.00 35.5067.00 52.378.50\$238.52 \$33,220.02LANES HIGHLAND PARK EX W 6 FT 6Grade and Pave Lighting9.00 35.5056.00 \$33,220.02\$238.52 \$33,220.02LANES HIGHLAND PARK EX W 6 FT LOT 13 BLK 11Grade and Pave Lighting9.00 35.50\$6.00 \$199.36\$504.00 \$1,988.00 \$22,691.36LANES HIGHLAND PARK EX W 6 FT LOT 13 BLK 6Grade and Pave Lighting9.00 35.50\$6.00 \$20.00 \$1,988.00 \$22,691.36LANES HIGHLAND PARK EX W 6 FT LOT 13 BLK 6Grade and Pave Lighting9.00 35.50\$6.00 \$2,00 \$1,988.00 \$2,691.36LANES HIGHLAND PARK EX W 40 FT LightingGrade and Pave Lighting9.00 35.50\$8.00 \$2,691.36LANES HIGHLAND PARK EX W 40 FT LightingGrade and Pave Lighting9.00 35.50\$8.00 \$2,059.00 \$2,691.36LANES HIGHLAND PARK EX W 40 FT LightingGrade and Pave Lighting9.00 35.50\$8.00 \$2,059.00 \$2,059.00 \$2,059.00 \$2,059.00 \$2,059.00 \$2,059.00 \$2,059.00\$

13:34:42 9/15/2015	Public Improvement Assessment	t Roll by Address Proje Ratification Date: Resolut		ssmt: 155401	Manager:	Page 20
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	Property ID
Michael A Tomars 1868 Ford Pkwy St Paul MN 55116-1916	LANE'S HIGHLAND PARK EX E 9 FT LOT 11 AND E 30 FT OF LOT 12 BLK 11	Grade and Pave Lighting City Processing Fee	9.00 35.50 3.56	67.00 67.00 67.00	\$603.00 \$2,378.50 \$238.52	16-28-23-21-0085
* 1868 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***	2.20	=	\$3,220.02	
Evelyn Zylberberg 1871 Ford Pky St Paul MN 55116-1917	LANE'S HIGHLAND PARK EX W 30 FT LOT 29 AND W 40 FT OF LOT 30 BLK 6	Grade and Pave Lighting City Processing Fee	9.00 35.50 3.56	56.00 56.00 56.00	\$504.00 \$1,988.00 \$199.36	16-28-23-21-0069
* 1871 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***		=	\$2,691.36	
Michael A Tomars 1868 Ford Pkwy St Paul MN 55116-1916 * 1874 FORD PKWY *Ward: 3	LANE'S HIGHLAND PARK EX E 30 FT LOT 12 ALL OF LOT 13 AND E 5 FT OF LOT 14 BLK 11	Grade and Pave Lighting City Processing Fee *** Owner and Taxpayer ***	9.00 35.50 3.56	67.00 67.00 67.00	\$603.00 \$2,378.50 \$238.52 \$3,220.02	16-28-23-21-0086
 *Pending as of: 3/4/2015 Lucy Gibbs Imholte 1875 Ford Pkwy St Paul MN 55116 *1875 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015 	LANE'S HIGHLAND PARK EX W 20 FT LOT 28 AND W 30 FT OF LOT 29 BLK 6	Grade and Pave Lighting City Processing Fee *** Owner and Taxpayer ***	9.00 35.50 3.56	56.00 56.00 56.00	\$504.00 \$1,988.00 \$199.36 \$2,691.36	16-28-23-21-0068
Little Stars Childcare Inc 13696 Crossmoor Ave Rosemount MN 55068-4584 *1880 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK EX E 5 FT; LOT 14 & E 26 FT LOT 15 BLK 11	Grade and Pave Lighting City Processing Fee *** Owner and Taxpayer ***	9.00 35.50 3.56	67.00 67.00 67.00	\$603.00 \$2,378.50 \$238.52 \$3,220.02	16-28-23-21-0155

13:34:42 9/15/2015	Public Improvement Assessment I	•	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Ra</u>	te <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Annemarie Hogan	LANE'S HIGHLAND PARK W 20 FT OF	Grade and Pave	9.0		\$504.00	16-28-23-21-0067
1881 Ford Pky	LOT 28 AND EX W 10 FT LOT 27 BLK 6	Lighting	35.5		\$1,988.00	
Saint Paul MN 55116-1917	U U	City Processing Fee	3.5	6 56.00	\$199.36	
*1881 FORD PKWY					\$2,691.36	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	er ***			
Tasks Unlimited Lodges	LANE'S HIGHLAND PARK EX E 26 FT	Grade and Pave	9.0		\$603.00	16-28-23-21-0089
2419 Nicollet Ave S	LOT 15 ALL OF LOT 16 AND E 1 FT OF LOT 17 BLK 11	Lighting	35.5		\$2,378.50	
Minneapolis MN 55404-3450	LUI 17 BLK II	City Processing Fee	3.5	6 67.00	\$238.52	
*1886 FORD PKWY					\$3,220.02	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	er ***			
Sar Shalom Kehilat	LANE'S HIGHLAND PARK W 10 FT OF	Grade and Pave	9.0		\$504.00	16-28-23-21-0066
1887 Ford Pky	LOT 27 AND ALL OF LOT 26 BLK 6	Lighting	35.5		\$1,988.00	
St Paul MN 55116-1917		City Processing Fee	3.5	6 56.00	\$199.36	
*1887 FORD PKWY					\$2,691.36	
*Ward: 3		*** Owner and Taxpaye	er ***			
*Pending as of: 3/4/2015						
Steven T Hannig	LANE'S HIGHLAND PARK EX E 1 FT	Grade and Pave	9.0	0 67.00	\$603.00	16-28-23-21-0090
876 7th St E	LOT 17 AND E 22 FT OF LOT 18 BLK 11	Lighting	35.5		\$2,378.50	
St Paul MN 55106-4550	11	City Processing Fee	3.5	6 67.00	\$238.52	
*1892 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	er ***		\$3,220.02	

13:34:42 9/15/2015	Public Improvement Assessmen	t Roll by Address Ratification Date:	Project: 19 Resolution #:		ssmt: 155401	Manager:	Page 2
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>U</u> 1	<u>nit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Joseph M Uebel 8095 Comstock Ct Inver Grove Heights MN 55076-3332 *1898 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK EX E 22 FT LOT 18 AND ALL OF LOT 19 BLK 11	Grade and Pave Lighting City Processing Fee *** Owner and Taxpa	ayer ***	9.00 35.50 3.56	0.00 0.00 0.00	\$0.00 \$0.00 \$0.00 \$0.00	16-28-23-21-0145
	Residential Property Previous Asmt #145200 Fairview/Bohland RSVP Levied 10/1/2014						
Llc Tp Fitz 3025 Woodlark Lane Eagan MN 55121-1916 *1901 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK LOTS 23 24 AND LOT 25 BLK 6	Grade and Pave Lighting City Processing Fee *** Owner and Taxpa	ayer ***	9.00 35.50 3.56	141.00 141.00 141.00	\$1,269.00 \$5,005.50 \$501.96 \$6,776.46	16-28-23-21-0065
Adeline Johnson Trustee 101 5th St E Saint Paul MN 55101-1801 *1909 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK LOTS 15 AND LOT 16 BLK 5	Grade and Pave Lighting City Processing Fee *** Owner ***		9.00 35.50 3.56	90.00 90.00 90.00	\$810.00 \$3,195.00 \$320.40 \$4,325.40	16-28-23-21-0050
Diane M Mast Trustee 37 Isabel St E Saint Paul MN 55107-2224 *1909 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK LOTS 15 AND LOT 16 BLK 5	*** Taxpayer ***					16-28-23-21-0050

13:34:42 9/15/2015	Public Improvement Assessmen		Project: 19100 esolution #:	Assmt: 155401	Manager:	Page 23
Owner or Taxpayer	Property Description	Item Description	<u>Unit Ra</u>	te Quantity	Charge Amts	<u>Property ID</u>
Diane M Mast Trustee	LANE'S HIGHLAND PARK N 1/2 OF	Grade and Pave	9.		\$972.00	16-28-23-21-0105
First Lawyers Trust Company	VAC ALLEY ADJ AND LOTS 1 AND LOT 2 BLK 12	Lighting	35.		\$3,834.00	
37 Isabel St E	EOT 2 BER 12	City Processing Fee	3.	56 108.00	\$384.48	
Saint Paul MN 55107-2224					\$5,190.48	
*1912 FORD PKWY		*** Owner and Taxpaye	er ***			
*Ward: 3						
*Pending as of: 3/4/2015						
Johnson Realty Company Llc	LANE'S HIGHLAND PARK LOTS 13	Grade and Pave	9.	00 85.00	\$765.00	16-28-23-21-0049
1999 Shepard Rd	AND LOT 14 BLK 5	Lighting	35.		\$3,017.50	
Saint Paul MN 55116-3210		City Processing Fee	3.	56 85.00	\$302.60	
*1921 FORD PKWY					\$4,085.10	
*Ward: 3		*** Owner and Taxpaye	r ***			
*Pending as of: 3/4/2015						
Diane M Mast Trustee	LANE'S HIGHLAND PARK N 1/2 OF	Grade and Pave	9.	00 114.00	\$1,026.00	16-28-23-21-0106
First Lawyers Trust Company	VAC ALLEY ADJ AND LOTS 3 AND	Lighting	35.		\$4,047.00	
37 Isabel St E	LOT 4 BLK 12	City Processing Fee	3.	56 114.00	\$405.84	
Saint Paul MN 55107-2224					\$5,478.84	
*1924 FORD PKWY		*** Owner and Taxpaye	r ***			
*Ward: 3						
*Pending as of: 3/4/2015						
Lynn Johnson	LANE'S HIGHLAND PARK LOTS 11	Grade and Pave	9.		\$720.00	16-28-23-21-0048
Mitchell Johnson Trustee	AND LOT 12 BLK 5	Lighting	35.		\$2,840.00	
1999 Shepard Rd		City Processing Fee	3.	56 80.00	\$284.80	
St Paul MN 55116-3210					\$3,844.80	
* 1929 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	er ***			

13:34:42 9/15/2015	Public Improvement Assessment F	-	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 2
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rat</u>	te Quantity	Charge Amts	<u>Property ID</u>
Johnson Properties 7800 Metro Pky Suite 300 Bloomington MN 55425-1509	LANE'S HIGHLAND PARK N 1/2 OF VAC ALLEY ADJ AND LOT 5 BLK 12	Grade and Pave Lighting City Processing Fee	9.0 35.5 3.5	57.00	\$513.00 \$2,023.50 \$202.92	16-28-23-21-0107
* 1936 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015		*** Taxpayer ***			\$2,739.42	
Lincoln Court Apts Inc 1165 Hudson Rd St Paul MN 55106-6123 * 1936 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK N 1/2 OF VAC ALLEY ADJ AND LOT 5 BLK 12	*** Owner ***				16-28-23-21-0107
Lincoln Courts Apts Inc 7800 Metro Pky Bloomington MN 55425-1509 * 1936 FORD PKWY *Ward: 3 *Pending as of: 3/4/2015	LANE'S HIGHLAND PARK N 1/2 OF VAC ALLEY ADJ AND LOT 6 BLK 12	Grade and Pave Lighting City Processing Fee *** Owner and Taxpay	9.0 35.5 3.5 yer ***	57.00	\$513.00 \$2,023.50 \$202.92 \$2,739.42	16-28-23-21-0146
Patricia A Kokott 1941 Ford Pky #101 St Paul MN 55116-1923 *1941 FORD PKWY 101 *Ward: 3 *Pending as of: 3/4/2015	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 101	Grade and Pave Lighting City Processing Fee *** Owner and Taxpay	9.0 35.5 3.5 yer ***	0 0.00	\$35.10 \$0.00 \$2.81 \$37.91	16-28-23-22-0104
	Previous assessment for lighting only					

13:34:42 9/15/2015	Public Improvement Assessmen	-	Project: 19100 Resolution #:	Assn	nt: 155401	Manager:	Pag
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit I</u>	<u>Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Inez I Janke Rev Trust	COMMON INTEREST COMMUNITY	Grade and Pave		9.00	3.90	\$35.10	16-28-23-22-0105
Dated October 10 1994	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 102	Lighting		5.50	0.00	\$0.00	
1941 Ford Pkwy Apt 102	CONDOMINION ONLY NO 102	City Processing Fee		3.56	0.79	\$2.81	
St Paul MN 55116-1961						\$37.91	
*1941 FORD PKWY 102		*** Owner and Taxpay	yer ***				
*Ward: 3							
*Pending as of: 3/4/2015							
	Previous assessment						
	for lighting only						
	Asmt #145401						
Patricia J Cullen	COMMON INTEREST COMMUNITY	Grade and Pave		9.00	3.90	\$35.10	16-28-23-22-0106
1941 Ford Pkwy #103	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 103	Lighting		5.50	0.00	\$0.00	
St Paul MN 55116	CONDOMINION ONLY NO 105	City Processing Fee		3.56	0.79	\$2.81	
*1941 FORD PKWY 103					_	\$37.91	
*Ward: 3		*** Owner and Taxpay	yer ***				
*Pending as of: 3/4/2015							
	Previous assessment						
	for lighting only						
	Asmt #145401						
Vincent Depaul Mcmahon	COMMON INTEREST COMMUNITY	Grade and Pave		9.00	3.90	\$35.10	16-28-23-22-0107
Mary G Mcmahon	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 104	Lighting		5.50	0.00	\$0.00	
1941 Ford Pkwy Unit 104		City Processing Fee		3.56	0.79	\$2.81	
St Paul MN 55116-1923						\$37.91	
*1941 FORD PKWY 104		*** Owner and Taxpay	yer ***				
*Ward: 3							
*Pending as of: 3/4/2015							
	Previous assessment						
	for lighting only						
	Asmt #145401						

13:34:42 9/15/2015	Public Improvement Assessmen	-	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page
Owner or Taxpayer	Property Description	Item Description	<u>Unit Ra</u>	<u>te</u> <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Alexander Amnuel 940 Laurel Ave St Paul MN 55104-6523	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 106	Grade and Pave Lighting City Processing Fee	9.0 35.2 3.2	50 0.00	\$35.10 \$0.00 \$2.81	16-28-23-22-0108
* 1941 FORD PKWY 106 *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay			\$37.91	
	Previous assessment for lighting only Asmt #145401					
Renee M Miller	COMMON INTEREST COMMUNITY	Grade and Pave	9.0		\$35.10	16-28-23-22-0109
941 Ford Pky Unit 107	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 107	Lighting City Processing Fee	35.: 3.:		\$0.00 \$2.81	
Saint Paul MN 55116-1923 *1941 FORD PKWY 107 *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay			\$37.91	
	Previous assessment for lighting only Asmt #145401					
Seth R Phillips	COMMON INTEREST COMMUNITY	Grade and Pave	9.0		\$35.10	16-28-23-22-0110
Lorraine Blake 1941 Ford Pky Unit 108	NUMBER 432 PARKWAY COMMONS Condominium Unit no 108	Lighting City Processing Fee	35.: 3.:		\$0.00 \$2.81	
Saint Paul MN 55116-1923 *1941 FORD PKWY 108 *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay	ver ***		\$37.91	
	Previous assessment for lighting only Asmt #145401					

13:34:42 9/15/2015	Public Improvement Assessmen	t Roll by Address Projec Ratification Date: Resolution		smt: 155401	Manager:	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Irvin R Gertz	COMMON INTEREST COMMUNITY	Grade and Pave	9.00	3.90	\$35.10	16-28-23-22-0111
Barbara Winthrop	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 109	Lighting	35.50	0.00	\$0.00 \$2.81	
1941 Ford Pkwy Unit 109		City Processing Fee	3.56	0.79	\$2.81	
St Paul MN 55116-1923 *1941 FORD PKWY 109		*** Owner and Taxpayer ***			\$37.91	
*Ward: 3		owner und Tuxpuyer				
*Pending as of: 3/4/2015						
	Previous assessment					
	for lighting only					
	Asmt #145401					
Frances R Rooney	COMMON INTEREST COMMUNITY	Grade and Pave	9.00	3.90	\$35.10	16-28-23-22-0112
1941 Ford Pkwy Unit 110		Lighting	35.50	0.00	\$0.00	
St Paul MN 55116-1962		City Processing Fee	3.56	0.79	\$2.81	
*1941 FORD PKWY 110		*** 0			\$37.91	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***				
	Previous assessment for lighting only Asmt #145401					
Otis F Hilbert Trustee	COMMON INTEREST COMMUNITY	Grade and Pave	9.00	3.90	\$35.10	16-28-23-22-0113
Po Box 21948	NUMBER 432 PARKWAY COMMONS	Lighting	35.50	0.00	\$0.00	
Eagan MN 55121-0948	CONDOMINIUM UNIT NO 201	City Processing Fee	3.56	0.79	\$2.81	
1941 FORD PKWY 201					\$37.91	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***				
	Previous assessment for lighting only Asmt #145401					
Beatrice B Schraft	COMMON INTEREST COMMUNITY	Grade and Pave	9.00	3.90	\$35.10	16-28-23-22-0114
941 Ford Pkwy #202	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 202	Lighting	35.50	0.00	\$0.00	
St Paul MN 55116-1923		City Processing Fee	3.56	0.79	\$2.81	
*1941 FORD PKWY 202 *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpayer ***			\$37.91	
	Previous assessment for lighting only					

13:34:42 9/15/2015	Public Improvement Assessmen	-	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Ra</u>	<u>te</u> <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Clifford D Lagerquist	COMMON INTEREST COMMUNITY	Grade and Pave	9.	00 3.90	\$35.10	16-28-23-22-0115
Lydia M Lagerquist	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 203	Lighting	35.:		\$0.00	
1941 Ford Pkwy Apt 203	CONDOMINIOM UNIT NO 205	City Processing Fee	3.:	560.79	\$2.81	
St Paul MN 55116-1963					\$37.91	
*1941 FORD PKWY 203		*** Owner and Taxpay	/er ***			
*Ward: 3						
*Pending as of: 3/4/2015						
	Previous assessment					
	for lighting only					
	Asmt #145401					
Helena Sylvester	COMMON INTEREST COMMUNITY	Grade and Pave	9.	00 3.90	\$35.10	16-28-23-22-0116
941 Ford Pkwy Unit 204	NUMBER 432 PARKWAY COMMONS	Lighting	35.:	50 0.00	\$0.00	10-20-23-22-0110
St Paul MN 55116-1923	CONDOMINIUM UNIT NO 204	City Processing Fee	3.:	56 0.79	\$2.81	
*1941 FORD PKWY 204					\$37.91	
*Ward: 3		*** Owner and Taxpay	/er ***			
*Pending as of: 3/4/2015						
	Previous assessment					
	for lighting only					
	Asmt #145401					
Michelle M Micko	COMMON INTEREST COMMUNITY	Grade and Pave	9.	00 3.90	\$35.10	16-28-23-22-0117
1941 Ford Pkwy	NUMBER 432 PARKWAY COMMONS	Lighting	35.:	50 0.00	\$0.00	10 20 20 22 0117
St Paul MN 55116-1923	CONDOMINIUM UNIT NO 205	City Processing Fee	3.:	56 0.79	\$2.81	
*1941 FORD PKWY 205					\$37.91	
*Ward: 3		*** Owner and Taxpay	/er ***			
Pending as of: 3/4/2015						
	Previous assessment					
	for lighting only					
	Asmt #145401					

13:34:42 9/15/2015	Public Improvement Assessmen	t Roll by Address Ratification Date:	Project: 1 Resolution #		Assmt: 155401	Manager:	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	Ī	U <mark>nit Rate</mark>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Angus F Smetana	COMMON INTEREST COMMUNITY	Grade and Pave		9.00	3.90	\$35.10	16-28-23-22-0118
Viola R Smetana	NUMBER 432 PARKWAY COMMONS	Lighting		35.50	0.00	\$0.00	
1941 Ford Pkwy Unit 206	CONDOMINIUM UNIT NO 206	City Processing Fee		3.56	0.79	\$2.81	
Saint Paul MN 55116-1963					=	\$37.91	
*1941 FORD PKWY 206		*** Owner and Taxp	ayer ***				
*Ward: 3							
*Pending as of: 3/4/2015							
	Previous assessment						
	for lighting only						
	Asmt #145401						
Frances C Ryan Trustee	COMMON INTEREST COMMUNITY	Grade and Pave		9.00	3.90	\$35.10	16-28-23-22-0119
Frances C Ryan	NUMBER 432 PARKWAY COMMONS	Lighting		35.50	0.00	\$0.00	
1941 Ford Pky Unit 207	CONDOMINIUM UNIT NO 207	City Processing Fee		3.56	0.79	\$2.81	
Saint Paul MN 55116-1923					=	\$37.91	
*1941 FORD PKWY 207		*** Owner and Taxp	ayer ***				
*Ward: 3			2				
*Pending as of: 3/4/2015							
	Previous assessment						
	for lighting only						
	Asmt #145401					***	
Mary Patricia Fleck	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS	Grade and Pave		9.00	3.90	\$35.10	16-28-23-22-0120
1941 Ford Pky Unit 208	CONDOMINIUM UNIT NO 208	Lighting		35.50	0.00	\$0.00	
Saint Paul MN 55116-1923		City Processing Fee		3.56	0.79	\$2.81	
*1941 FORD PKWY 208						\$37.91	
*Ward: 3		*** Owner and Taxp	ayer ***				
*Pending as of: 3/4/2015							
	Previous assessment						
	for lighting only						
	Asmt #145401						

13:34:42 9/15/2015	Public Improvement Assessmen		Project: 19100 Accolution #:	Assmt: 155401	Manager:	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Ra</u>	<u>ite</u> <u>Quantity</u>	Charge Amts	Property ID
Susann J Ocko	COMMON INTEREST COMMUNITY	Grade and Pave		00 3.90	\$35.10	16-28-23-22-0121
1941 Ford Pky Unit 209	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 209	Lighting	35.		\$0.00	
Saint Paul MN 55116-1923		City Processing Fee	3.	56 0.79	\$2.81	
*1941 FORD PKWY 209					\$37.91	
*Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpaye	27 ***			
	Previous assessment for lighting only Asmt #145401					
Carol Casper Dye	COMMON INTEREST COMMUNITY	Grade and Pave	9.	00 3.90	\$35.10	16-28-23-22-0122
Robert Ellis Dye	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 210	Lighting	35.		\$0.00	
1941 Ford Pky Unit 210	CONDOMINIOM UNIT NO 210	City Processing Fee	3.	56 0.79	\$2.81	
Saint Paul MN 55116-1923					\$37.91	
*1941 FORD PKWY 210		*** Owner and Taxpaye	er ***			
*Ward: 3						
*Pending as of: 3/4/2015						
	Previous assessment for lighting only Asmt #145401					
Arlene M Walsh	COMMON INTEREST COMMUNITY	Grade and Pave	9.	00 3.90	\$35.10	16-28-23-22-0123
1941 Ford Pky Unit 301	NUMBER 432 PARKWAY COMMONS	Lighting	35.		\$0.00	
Saint Paul MN 55116-1923	CONDOMINIUM UNIT NO 301	City Processing Fee	3.	56 0.79	\$2.81	
*1941 FORD PKWY 301					\$37.91	
*Ward: 3		*** Owner and Taxpaye	er ***			
*Pending as of: 3/4/2015						
	Previous assessment for lighting only Asmt #145401					

13:34:42 9/15/2015	Public Improvement Assessmen	•	Project: 19100 Resolution #:	Assmt: 155401	Manager:	Page 31
Owner or Taxpayer	Property Description	Item Description	<u>Unit Ra</u>	<u>te</u> <u>Quantity</u>	Charge Amts	<u>Property ID</u>
Catherine E Eilers 1941 Ford Pky Unit 302 Saint Paul MN 55116-1923	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 302	Grade and Pave Lighting City Processing Fee	9. 35. 3.		\$35.10 \$0.00 \$2.81	16-28-23-22-0124
* 1941 FORD PKWY 302 *Ward: 3 *Pending as of: 3/4/2015		*** Taxpayer ***			\$37.91	
Patrick C Eilers Trustee Patrick C Eilers 177 Dewindt Rd Winnetka IL 60093-3708 *1941 FORD PKWY 302 *Ward: 3 *Pending as of: 3/4/2015	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 302	*** Owner ***				16-28-23-22-0124
	Previous assessment for lighting only Asmt #145401					
Susan A Trafton 2632 Sutton Cir Naperville IL 60564-9009	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 303	Grade and Pave Lighting City Processing Fee	9. 35. 3.	50 0.00	\$35.10 \$0.00 \$2.81	16-28-23-22-0125
* 1941 FORD PKWY 303 *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay	er ***		\$37.91	
	Previous assessment for lighting only Asmt #145401					
Edward M Pickett Trust Pickett Edward M 1941 Ford Pky Unit 304	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 304	Grade and Pave Lighting City Processing Fee	9. 35. 3.	50 0.00	\$35.10 \$0.00 \$2.81	16-28-23-22-0126
Saint Paul MN 55116-1923 *1941 FORD PKWY 304 *Ward: 3 *Pending as of: 3/4/2015		*** Owner and Taxpay	er ***		\$37.91	
	Previous assessment for lighting only Asmt #145401					

13:34:42 9/15/2015	Public Improvement Assessmen	-	Project: 19100 Ass solution #:	smt: 155401	Manager:	Page
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Brett C Lillemoe Trustee	COMMON INTEREST COMMUNITY	Grade and Pave	9.00	3.90	\$35.10	16-28-23-22-0127
392 Mississippi River Blvd N	NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 306	Lighting	35.50	0.00	\$0.00	
Saint Paul MN 55104-4927	CONDOMINIUM UNIT NO 306	City Processing Fee	3.56	0.79	\$2.81	
*1941 FORD PKWY 306					\$37.91	
*Ward: 3		*** Owner and Taxpayer	- ***			
*Pending as of: 3/4/2015						
	Previous assessment					
	for lighting only					
	Asmt #145401					
Timothy P Kenney Trustee	COMMON INTEREST COMMUNITY	Grade and Pave	9.00	3.90	\$35.10	16-28-23-22-0128
Florence M Kenney Trustee	NUMBER 432 PARKWAY COMMONS	Lighting	35.50	0.00	\$0.00	
1941 Ford Pky Unit 307	CONDOMINIUM UNIT NO 307	City Processing Fee	3.56	0.79	\$2.81	
Saint Paul MN 55116-1923				-	\$37.91	
*1941 FORD PKWY 307		*** Owner and Taxpayer	- ***			
*Ward: 3						
*Pending as of: 3/4/2015						
	Previous assessment					
	for lighting only					
	Asmt #145401	Conta an 1 De la	0.00	2.00	¢25.10	
Mary Ann Gilbertson	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS	Grade and Pave Lighting	9.00 35.50	3.90 0.00	\$35.10 \$0.00	16-28-23-22-0129
Mary Ann Gilbertson Trustee 1941 Ford Pkwy Unit 308	CONDOMINIUM UNIT NO 308	City Processing Fee	3.56	0.00	\$2.81	
St Paul MN 55116-1923			5.50	=		
*1941 FORD PKWY 308		*** Owner and Taxpayer	· ***		\$37.91	
*Ward: 3		o mier und ruxpuyer				
*Pending as of: 3/4/2015						
1 chang as 01. 5/4/2015						
	Previous assessment					
	for lighting only					
	Asmt #145401					

13:34:42 9/15/2015	Public Improvement Assessmen	•	roject: 19100 A solution #:	ssmt: 155401	Manager:	Page
<u>Owner or Taxpayer</u>	Property Description	Item Description	<u>Unit Rate</u>	<u>Quantity</u>	Charge Amts	<u>Property ID</u>
Zukai Wang 1941 Ford Pky Unit 309 Saint Paul MN 55116-1923 * 1941 FORD PKWY 309 *Ward: 3 *Pending as of: 3/4/2015	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 309	Grade and Pave Lighting City Processing Fee *** Owner and Taxpayer	9.00 35.50 3.56	3.90 0.00 0.79	\$35.10 \$0.00 \$2.81 \$37.91	16-28-23-22-0130
	Previous assessment for lighting only Asmt #145401					
Michael W Bohman Patricia L Bohman 1349 Colleen Ave Arden Hills MN 55112-1907 * 1941 FORD PKWY 310 *Ward: 3 *Pending as of: 3/4/2015	COMMON INTEREST COMMUNITY NUMBER 432 PARKWAY COMMONS CONDOMINIUM UNIT NO 310	Grade and Pave Lighting City Processing Fee *** Owner and Taxpayer	9.00 35.50 3.56 ***	3.90 0.00 0.79	\$35.10 \$0.00 \$2.81 \$37.91	16-28-23-22-0131
	Previous assessment for lighting only Asmt #145401					
Total Grade and Pave: Total Lighting: Total City Processing Fee:	\$63,064.80 \$244,879.00 \$24,635.56					
Project Total:	\$332,579.36					
Less Total Discounts:	\$0.00	Residential Fronta Commercial Front	•	14,513.32 6,312.00	\$231,461.12 \$101,118.24	
Project Total:	\$332,579.36	Frontage Totals:		20,825.32	\$332,579.36	

124 Parcel(s) 0 Exempt Parcel(s)